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CooRDINATE  SEonEre  RASICS E nERcISE
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Find  geuhent of  ctiight line betuween (3,2 ) and (5 9)
Fid  qeadieat of steaiht line bebuween (=3,4) and (2,-5)
Find Ethe Jdiskance betmeen (3,2) and <[) a)

Find the Aitunce betneen (—3,4_) and (z,-g)

Find the widpont o€ (3,2) and (¢, 4)

Fid  the  midpint of (=3, ¢)and (2,-5)

Write down Ehe equibions o€ tuo lines Chet are pacelie]
WUrite down the equabions of b lines Gut are perpeadicvlur
Fid the eguation of 4 line with gqraddient 2 passing Ehvo (3,2)

Fiad Ehe Qtu«l’fo« o€ « ne w»tL\ ﬂm»“cn(" -3 PAS.fll‘\j Ehro (S'ﬂ)

. Fl'nt/( Ehe %Uk“l‘aﬂ o « e €heo (2) 4) ) 4 C4—,l7>

Find the eguebion o€ a line thn (3,-3) and (§,-7)
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L et (xuu),) = (32) a-dt XL,“)L) =(s 1)
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Ky = 2y

Lek (x,)j,) = (‘3,‘?} sk (11, ‘J;): (2)'5)

37_"3, -_ _5--4’ = -9 = 9

Ao = 2--3 il S
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et (x,,9)= (32) and (5,,49.) =(5,4)
A4 = »/(*z—a,)" + (92-y,)?
d= [(s-)F+ (3% =[2%7T

- /53

L€ CI,,‘J,)': ('3,4') and (’(L)“j"),) :(2-) "S’)
A =,/<7~1’1|)2*(11"]|)1
A :./('1“‘3)7 +(-§-a)" T T+ =/0e

Let (,1.)3,) = <3,7~) and (11;'31) :<§;ﬁ)
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COODNINATE. GEoMETZ [RASicS
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ExXErcI1SE SorvTionS

Lee (oy) = (-3,¢) ant (x4,92) = (2,-5)
Midpoiat M :(Z:—fx?. ) ‘:]lff[1->
2

A

M = -342 ) 4*('9)
2 2

M:(-..L,-—..’)
2. 2

Two P‘\’AH(i [1nes 13 = g:& + |
9 = §x -3

Tws P{r‘)enfjl‘cdh‘/ l‘\ﬂZS

94 = %14—'
= -3 -3
5= -3

Line with gradieab 2 paciing  Ehvevh (32)
Uiy oy T mlam)
W=z = 2(=-3)
4-2 = 2x -6
“ = 24 -6 +2

vb: 21-—{
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COO0RDINATE GEMETRM Basics Exenreis€ SocvTon$

Line with qradient =3 pesting Ehmugh (5,4)
US i 4o m (2 mmy)
y-4 = =3(x-§)
w=4 = =3x +If
S S N

4 = —3x + 24

Lne t‘vouil’\ (Z’ c\) °\w0\ ( a4 "'l)

<9(')\j,) <XL)“)‘L)
Usm7 ‘3'3, - > -X
Ji-Y) B S
lﬁ—ﬁ = X-c
17-9 4 -2
1,3-5( - X-2
R Z
~ 4 = 8(1'2)
L -
W4 = 4 (x-2)
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EXERCISE Sotvriong

C OO INATE GEoMETE RASICS
Line CLfouﬁl‘\ (3) —-3) a~d (5‘/_7)
<3l') ‘3'>, (’Q,‘jq_)
Using 9=y = X=X
bl“j; Uy ~ Ay
9="3 . % =3
-7--3 -3
“+3 - xX-3
w3 T =4 (=x-3)
2,
3+3 = -2.(1—'3)
"3"‘2 - -2~ +6
4 = —2x 46 — 73
= —2x 4+ 3




